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Multiple Choice Question

1. Davis drew a unit circle and labeled the

\/5 \/5) As

27 2

cosine and sine of 45° as (
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suming that Davis is correct, which of the

following statements must be true?

A. Ccos

B. cos

C. cos

Vo N Vo

LY E GO RN

N——— N——— N————
Il

w|§‘ Mm m|§

w|§|

D. cos()

Answer: A

o Watch Video Solution
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The right triangle above, cosx=0.8. What is the

value of cosy?
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Answer: B

o Watch Video Solution

3. Right triangle ABC has side lengths 7, 24,
and 25. If /B is the second-larest interior

angle of the triangle, what is the cosine of /B

?
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Answer: A

o Watch Video Solution

4. If the longer leg of a right triangle has
length 32 centimeters, and the measure of the

angle that is adjacent to that leg is 30°, which
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of the following represents the length, in
centimeters , of the hypotenuse of the

triangle?

A.32 x sin30°

B.32 x cos 30°

32
sin 30°
32
cos 30°

C.

D.

Answer: D

o Watch Video Solution
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In the triangle above, tanz = 3 What is

cosx?
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Answer: D

° Watch Video Solution

1
6. If cost — —, then what is tant?
cost 3
A 1
"3
3
5, V3
3

C.v/3
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D. 3

Answer: D

o Watch Video Solution
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Triangle BUG shown is an isosceles

right
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triangle. If the length of side UG is 5 units,

what is the sine of Z/G?
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Answer: B

° Watch Video Solution
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8. In a right triangle, one angle measure z°,

where sinz° = 1—5.What is cos(90° — z°)?

° Watch Video Solution

9. The angles of a triangle are in the ratio

1:2:3. What is the sine of the smallest angle?

o Watch Video Solution
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The equation of line M shown above is
3 , :

Y= — Za:—|—5. Given that angle A is the

acute angle formed by the intersection of line

M and the y-axis, which expression could be

used to find the measure of angle A?

3
A.cosA = —
CcOS 1
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B.sin4d = —
Sin 3

4

C.tanA = —
an 3

4

D. A= —
COS E

Answer: C

o Watch Video Solution
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11.
If the area of the triangle shown above is 12

squares inches, what is the value of cosz?
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Answer: A

o Watch Video Solution

12.In triangle XYZ (not shown), the measure of
Y is 90°,YZ =12, and XZ = 15.
Triangle HJK is similar to triangle XYZ, where
vertices H, J, and K corresponds ot vertices X, Y,
and Z, respectively, and each side of triangle
HJK is l the length of the corresponding side

5
of triangle XYZ. What is the value of tanK?

o Watch Video Solution
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